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1. BEBROE
(1) #EE IR
EAXYMEERR
AR EZEFR 6, 050 6, 066 A 16
EXRMEERRE 6, 050 6, 066 A 16
E ¥ JVE
EHMORBMEICET 2F X 31,703, 653 42,729,498 A 11,025, 845
E—DMZZHEEE 3,914, 000 3, 805, 000 109, 000
RERREX 82, 500 57,000 25, 500
PREEEERFEHZFERA 2,986, 000 2,986, 000 0
PR EEFHEEFZENA 253, 000 202, 000 51,000
EXImEt 38, 939, 153 49,779,498 A 10, 840, 345
ZMEBEF
ZEUM A N K EF R & 8, 886, 785 8,977, 981 A 91,196
MRS 1,593, 158 1,642,987 A 49,829
ZERE B & 5T 10,479, 943 10, 620, 968 A 141,025
AR
ZEFR 69 81 A 12
AR 0 0 0
AR ET 69 81 A 12
EEIREE 49, 425, 215 60, 406, 613] A 10,981, 398
Q) REER
EXE
REDELAS 2,918, 552 2,971,394 A 52,842
TS 6, 719, 291 6, 720, 524 A 1,233
fRREES 2,257,170 2,218, 800 38, 370
BIELEE 1,191, 333 1,183, 490 1,843
REXBE 0 0 0
BIEEIRE 1,264, 394 1,267,003 A 2,609
BIEEEN & 0 24,222 A 24,222
HERE 584, 743 122, 298 A 137,555
EHEE 10, 928 17,600 53, 328
iR A& 253, 220 397, 540 A 144,320
A 64,919 72,011 A 7,092
e 32,978,918 44,009, 420 A 11,030, 502
RERH 52, 250 32,170 20, 080
EHE 40, 000 30, 000 10, 000
ML ER 6, 600 0 6, 600
RitE 96, 000 96, 000 0
BigE 134,026 145, 706 A 11,680
HEMSRERE 39, 600 0 39, 600
FHr 180, 690 38, 491 142,199
EXEE 48, 852, 634 59,946,669 A 11,094, 035
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1% B ¥R 147, 200 10, 400 76, 800
HMFEL 299, 709 298, 476 1,233
BIELEE 49,727 49, 266 461
BigE 5,907 6, 526 A 619
BIEEIRE 8, 562 1,811 145
HERE 8,410 4, 820 3,590
BfaH 41, 306 42,193 A 887
RitE 0 0 0
FHH 11,760 4, 668 1,092
EEER 572, 581 484, 166 88, 415
EEERE 49, 425, 215 60, 430,835 A 11,005, 620
S8 45 % SR AT 4 AR IR B 1R AR 0 A 24,222 24,222
LEIE R IR 0 A 24,222 24,222
2. BEIMEBOE
(1) FEESMRE
EEMRIET 0 0 0
2) ZENER
RESNERG 0 0 0
LERESMEREE 0 0 0
i 51 B 2 ) — iR IE IR A EE IR IR AR 0 0 0
LHA—ARIERREA E 1 IRAE 0 A 24,222 24,222
—IRIERMEHERS 8, 222 32, 444 A 24,222
—RIEREAEEIR RS 8,222 8,222 0
I 157 IERREAEE LR 0D &f

ZEU A A L E R E 0 0 0
= 245 7€ IE R BA EE 1R R ER 0 0 0
EEEKRHEHREZES 60, 500, 000 60, 500, 000 0
EEERE ERXRES 60, 500, 000 60, 500, 000 0
m ERMEHRES 60, 508, 222 60, 508, 222 0




